S TUWUDY

COMBINED GEOLOGY SUBORDINATE SERVICE IN EXAMINATION - 18/08/2023
Computer Based Test

1.  What is the period for the 14th Finance Commission has made its recommendations?

a. 2013-2018 b. 2015-2020 c. 2014-2019
d. 2012-2017 e. Answer not known

b STVEL L SHFHmarer LfbaHemysamer 14eagh BHHEGD (PaienalsHHH?
a. 2013-2018 b. 2015-2020 c. 2014-2019
d. 2012-2017 e. allenL  Gafwealsvenso

2. In the below schemes, which is related to improve the nutritional and health status of
the children in the age group 0-6 years

Integrated Child Development Scheme

National Rural Employment Programme

Nutrition Programme

Mahatma Gandhi Rural Employment Guarantee Scheme

. Answer not known

Weiteupld HLmIG6eMNe0 61&H 0-6 auIFH GHWHNHHeer 261 | FHHl LOBHBID HSTHTT  [HeNEVenU

LB geusl GGTLTUTeISI?

a. QHRIBHMMHS GLHMSHET eUeTTFSSH S L LD

b. Gzl eays Geuemev eumuiidh LD

C. o' L&FFSHSH QUPRIGLD FHLLLD

d. warHor &M ears Gaemen o mFHH HLD

e. alemL G flwaledenso

oo T

3. The Rural Infrastructure Development Fund (RIDF) was setup under

a. RBI b. NABARD c. SIDBI

d. IDBI e. Answer not known

Sgmoys 2 6L Lol (WeGeamBpld B S o (HeurdhsLul L G|
a. pFHw Maimel eumid) b. mrunit@ c. AL

d. mi919m e. alenL  GaMuwailsvemen

4.  The main objectives of monetary policy are
1) Exchange rate stability
2) Economic growth
3) Disequilibrium in the balance of payments
4) Neutrality of money
Which of the above is correct statement?
a. (1) and (2) b. (2) and (3) c. (1), (2) and (4)
d. (3) and (4) e. Answer not known
Ueorallwed OBmeitendsuier (WHalw GlsCsmeisslt
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1. ufeuidHemer alFHHH60 Hewevd SHesTenio

2. QummeNTHTy eueniTEF

3. OFaudHg Flomeneouled &FLDGO‘I[B[B Blemevenwl GCLamIFHeL

4. UHSHBeT HHBMEVSH HETENLD

GuomaemtLsummlev 61 Fflwimer aflenL?

a. (1) By (2) b. (2) wBpd (3) c. (1), (2) wBpId (4)
d.(3) wmpid (4) e. alenL  GaMuwalevemev

Mahalanobis four sector model was applied for which of the following Five Year Plan?
a. First b. Second c. Third

d. Fourth e. Answer not known

wameuBearTiierd  [HT6NG, Hlenym orgif eiteumbd  6ThS b HTewT(H FHLLSFHeL
LWSTUGSSILIL L SI7?

a. (PSHeVTeUSI b. Byewi_meugi C. CpSMBTeUS

d. presTeug) e. alewL Gafuwalsdensy

Garibi Hatao and ‘growth with social Justice’ related to which five year Plan in India?

a. Fifth Five Year Plan b. Fourth Five Year Plan

c. Third Five Year Plan d. Second Five Year Plan

e. Answer not known

‘il asLLmBsm, (ouplemd @) LOBDID ‘Fepsd BAWL T aueTTFS 6aiug &b uwimed e
b MBHTIBH HI L SHHIL 6T OHTLTLDL WGHI?

a. MbHTUSH WHHTE(BSH S LD b. pra@ToIs WHSTETIHSH S LD

C. caIBTeUS DHFHTMIBHSH HILLLD d. yewi_meug MbSTEHSH H LD

e. alowL  GgMwalsvenso

Major issues in Information Technology Sector consists of the followings
(i) Infrastructure and services

(i)  Electronic governance

(iii) Education

(iv) Mass campaign for IT awareness

a. (i) and (ii) only b. (i) and (iv) only c. (i), (ii) and (iii) only
d. (i), (ii), (iii) and (iv) e. Answer not known
SHBeU6L CHTHeOBHIL L FHiewpuler (ol Fobseodern LlemalmelarauBenBd OB TemIBHeTendi.

&
(1) ® 6MaLLenli BBID CFemeusdssi
ii L6iTedTemI [HIiTeUTELD

ii

(iii)  ®eval
(iv) saeued GzmPed B usSIBaTar alfiiijemie Cougeyer LIF&sFmib
(i) wBpID (ii) wL B b. (i) wmmitd (iv) oL GLd c. (i), (i) @b (iii) wr G

a.
d. (i), (i), (iii) wBp (iv) e. alewL Qxfweaisdenso

Which one of the statement is correct?

(i) Humayun Nama compiled by Gulbadan Begum

(i)  Baduni translated the Bagavatha purana into Persian
(iii) Todarmal translated the Bagavatha purana into Persian
(iv)  Haji Ibrahim Sir hindi translated Atharvaveda

a. (i), (ii), (iii) are correct (iv) only incorrect

b. (i), (iii), (iv) are correct (ii) only incorrect

c. (i), (ii), (iv) are correct (iii) only incorrect

d. All are correct

e. Answer not known
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SpseniL Fammiseiled Fflwmet Fmmml e1gl?

i) QMPLOTUIG [BTOT emed OHTGHSHHeUT GHeoLGHer GLsLD

ii) uglel UsaISH LITenidHma umpds Gomhuled QomALWITSS T

iii) OHTLTDTEL USeUSH LJTeihHend UTTds Gomplufled GomdOuUUITeHSTT
iv) oy @Uralb &1 QbhFH SiHTeu CaumHmsd GLOmMHCUWITSSHTT

a ii), (iii) sflwrerg (iv) seupTerg

b. (i), (iii), (iv) sflwrengi (ii) LB SHeupTers

C

d

~—~~
—o
~—
~
—~

. (1), (ii), (iv) sfwreng (iii) I B> HeUBTEISHI
METSHSHID FHITeIg)
L Oxflwalstensv

b

2,

e.

9. Assertion [A]:
Reason [R]:

Firoz Shah Tughlaq did not levy Jizya tax.

His influential Minister Khan-i-Jahan Maqbul was a converted
Hindu.

a. Both [A] and [R] are true, and [R] is the correct explanation of [A].

b. Both [A] and [R] are true but [R] is not a correct explanation of [A].

C.

d

e.

[A] is true but [R] is false
. [A] is false but [R] is true
Answer not known

ampm [Al
amyewid [R]:

Geogmer QUBTTaT Zibens ‘Madwim’ auflemw aldsaals0em60
SIS LB OUBB SIEDDEFFT SHTeT-F-QBM6I  DSLLED LHWLTHEW  @(h Sbha

SLEUTT.
[A] wBmid [R] sMwnerg Gwed [R] eyengl [A] -darer gfumer allenbasion@Lp.
. [A] opmib [R] sflwmerg Gwend [R] euenig, [A] -dsmer gflwimer alendsiosen
[A] sflwmeng apemed [R] seupreng
[A] Beupmeng ayemmed [R] &M
e. allewL G flwailsdensn

an o

10.  Which one of the following is incorrectly paired?

Folk dance State
a. Karama - Bihar
b. Kathi - Bengal
c. Maya Shavari - Orissa
d. Natha Ras - Assam

e. Answer not known
LetTeu(heuesTeuBmIeT SHeummest OUM(HSHHD 6157

SigpmAw BT guid LOMHl6VLD
a. &L st

b. &1g) QUBIGBTENILD
C. Lomwgeum eflgm

d. prames SI6TOGYVTLD

e. alenL Gaflwealedenso

11.  Match correctly the Folk dramas with their corresponding states.

A. Kathakali
B. Yatra
C. Ainkiya Nat
D. Tamasha

A B
a. 1 2

1. Bengal

2. Maharashtra
3. Kerala

4. Assam

C D

3 4
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12.

13.

14.

15.

b. 1 2 4 3
C. 2 4 1 3
d 2 4 3 1

e. Answer not known
BTLGUUB BTLsmGemen o flul wimbeomaGamm®h CUMhEHSI®.

A. sz 1. GUBIBTeNLD
B. wnrgym 2. DBTITAYUQTID
C. omsbw mr 3. Gayenm
D. suwmeror 4. SJ6T0ENVMLD
A B C D
a 1 2 3 4
b. 1 2 4 3
C. 2 4 1 3
d. 2 4 3 1
e. alowL  GgMwalsvenso
During Mughal rule ____ were the assistants of Subhadar in the maintenance of peace.
a. Amin b. Diwan c. Kotwal
d. Faujdar e. Answer not known
(Wwaeomwit o fufed Siemwdlenwitl Cuamieugdled &CUSTHEG o Galwmenyms _ GHLILIT.
a. o6t b. Heurest C. O&THaTED
d. . .ueymait e. alewL Gafwalsbensv

Select the order which gives the correct chronological order of the Gupta Emperors.
1. Kumaragupta
2. Samudragupta
3. Ghatotkachagupta
4. Skandagupta
a.3,2,1,4 b.1,3,2 4 c.1,23,4
d.4,3,2,1 e. Answer not known
Ueteupd L 1guiedled GLig LetenTaeaier Fleoggl OUWTeeT O dbalILL (BelTenean  SieuTaerar
@J,L&ﬂ&';&':l‘r&) SlglitenLulled gflwmer euflengenulids SHTemsH.
. BOMGLIST

2 FWPHITGLIST

3. &0LTa&FFEUST

4. OVBHHGLISIT

a.3,2,1,4 b.1,3,2,4 c.1,23,4
d.4,3,2,1 e. alen  Gxfuiailsvensy

India earned the titled called ‘Ethnological Museum’ because

a. Multi-racial society b. Multi-linguistic society
c. Multi-religious society d. Multi-cultural society
e. Answer not known

@phHwT “Qeraluied yYmist’ e Guwflenet el GUBMIeTeNE?

a. LUei(pd BeFFeLpsLD b. usiaps GmbFFepsid

C. USI(IPS LDSHFFLPSLD d. ue(ps BETEFFTTEFFLPBID
e. allewL G flwalsvenso

Ala-ud-din Hasan Shah was succeeded by
a. Muhammad Shah I b. Ahmad Shah c. Firoz Shah
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16.

17.

d. Jafar Khan Ala-ud-din II e. Answer not known

DIOTOYHAT aBFeT agTeldh@ LT LuHals@ eubHeuT

a. (IPSHEVTLD (LPSHLDG! AGT b. &im051 agr C. . .L9Gymerd e
d. sgmum e @FEwILmD SievTeyH et e. allewL  Gaflwalsvenso

Consider the statement about collective responsibility, choose the correct answer from

the options given below :

Assertion [A]: Collective responsibility, in “Parliamentary Democracy” is to make
whole body and persons holding Ministerial office collectively,
rather than individually.

Reason [R]: Collective responsibility implies consensus building machine
among ministers

a. [A]is true [R] is wrong

b. [A]is false [R] is true

[A] and [R] are true, [R] is the correct explanation of [A]

d. Both [A] and [R] are true, but [R] is not correct explanation of [A].

e. Answer not known

“gal (BU1 QuTEIILenLemD” UBPlL  SeU(hlD FnBBIbIMeNd  SHHBIH, DleuBpelhha  Fiflwmen

el alemLemwsd O fe Gauis.

o

alewiy [Al: UMImEBeEBE  Glwm duller &l GU  GurmiuTerg,  eTelGleun (s
&H60TILO6UT HEmEBTULLD QUTBILILTSHHTSH SIMIDFFTeneUue0 2_6iTer
SiemareuenJud CUTBILILTSGSBSI.

amyewid [R]: “gal (b1 QUTEINL” GGl  DIDWFFTHANMLCWL  QHSHS BHSHMD

2 (HUTHGLD SEMLINLS SIS BSH.

a. [A] eietiug o ewewio [R] eteiiug sHeum

b. [A] eeug seuml [R] ereiug ol

c. [A] wbmnbd [R] ereiip ByewiGo &, [R] eteiiugy [A] &5 Fhlwimer alendaon@Lb.

d. [A] wmmib [R] eiei3 Sgewiio 2 _eamienio, syenmev [A] &@& [R] sflwnesr efendsorsrgi.

e. alewL Gaflwalsdenso

Match the following:

Case law Subject

A. Bandhu Mukti 1. The difference between Article 32 and Article 226
Morcha Vs Union of India Explained

B. Salem Advocate Bar 2. Environmental Direction Issued

Association Vs Union of India
C. M.C. Metha Vs Union of India 3. Speedy Trial applies to civil matters
D. Smt. Poonam Vs Sumit Tanwar 4. Health environment included in Right to life

A B C D
a. 3 2 1 4
b. 2 1 3 4
c. 4 3 2 1
d. 1 2 3 4

e. Answer not known
SIS IBenBL  CLIMT(HHSHIS

QUDSHTBMIF FLULLD Quimmeit
A. upbgisT (1psHg GuoniTam 1T 1. &slLe iy 32 g FlLe gy  226-5G
BbhFHw @ersiwibd @AemL Cuiweitem CoupiLimenL ail6d @360

B. Ggeuid aupdbaNEhTH6T FRIBLD 2. GBBIFGLE AUPSTL(BH0 2 HHTO| GUPRISLILIL L G

aHT @bhHw eedid
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18.

19.

20.

APPE> L0
STUDY CENTRE
CHENNAI

C. M.C. Guwgst 6dT @b 3. aupsmad  alejhd  BLoHSHUS  Faled  aupHAMmEGD
Q&SIMILILD QUT(HHHID
D. #mwd. yenbd et ads 4. 9 CrrehSwioTer SFBBIFGL euTDe|flenLou L 6
FHEOTEUITIT BenerTSHBLILIL L )
A B C D
a 3 2 1 4
b. 2 1 3 4
c. 4 3 2 1
d. 1 2 3 4
e. allewL G fluwailsvenso

Match correctly the Committees with the year of their set up

A. Balwantrai Mehta Committee 1.1977

B. Ashok Mehta Committee 2.1985

C. L.M. Singvi Committee 3.1986

D. G.V.K. Rao Committee 4.1957
A B C D

a. 4 1 3 2

b. 2 3 1 4

C. 4 1 2 3

d. 2 1 3 4

e. Answer not known
GWSHH6IT MG HeWICLTH CUT(HHHIS.

A. uedaupbEHITULI GUHEHT &1 1. 1977
B. 96Gsrs BuwiHzm &w 2. 1985
C.LM. el @ 3. 1986
D.G.V.K. grei @& 4. 1957

A B C D
a. 4 1 3 2
b. 2 3 1 4
C. 4 1 2 3
d. 2 1 3 4

e. allewL  Ggflwalsvenso

Which of the following statements are true about biogas plant?
1. Difficult to handle the effluent slurry

2. Gas forming methanogenic bacterias are sensitive

3. Easy to handle the gas collection

4. pH plays major role

a.1,3,4 b.1,2,4 c.2,34
d.1,23 e. Answer not known

SpspeniL. CFTBEBTLTHelled o ullT sumuy remeouL 6T GIGHTLTLmL WIS
1. sfleyd GHWDML MBWITEHIGH SHIQETLD

2. eumw 2 (Heutdh@G OgHGambmeid urdsflur HalFwoTearg

3. eutw Gaafliy erefFHmenng

4. pH wsadlw unig eaudlssngl

a.1,3,4 b.1,2,4 c.2,34
d.1,23 e. alenL  GaMuwalsvemev

Which of the following is true about the Lok Sabha?
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(i) Lok Sabha is commonly known as Lower House of the Indian Parliament.
(i) Members of Lok Sabha are directly elected by the people.
(iii) 44! Amendment Act increased the number of Lok Sabha members to 545

a. (i) only
d. (i) and (ii) only

b. (ii) only

e. Answer not known

c. (iii) only

LS EBeMemeUmWL UBHd SpauheuaieuBmier g/ erenel Fhuimerg/ sflwimerensu?

(i) DBHEMMal QUITHIUTS @HAHWILT LITTTEHOGTBSHSH 6T SHpemel 6T6Tsl DIDPSHBLILGHBSI.
(ii) wozenemey o mILleTaeT CHIQWTs WHEHMTL BHTHOHBHHSILIBSBTTHE.

(iii) 44eum FLLABSHHITe0 dseTemal o piilaimseier eewenibmam 545 ouE

® WTGHHWG.
a. (i) L Bw
d. (i) wBpIb (ii) Sdwene

b. (ii) o (Bb
e. allewL  Gaflwalsvenso

c. (iif) v G

21.  Which of the following statements are true about the Cabinet?
(i) Cabinet system enforces responsibility of the executive to the Legislation.
(i)  Cabinet consists of the Prime Minister and his/her senior ministers with

important portfolio

(iii) The head of the Cabinet is the Prime Minister

a. (i) only
d. (i), (ii) and (iii)

b. (i) and (ii) only

e. Answer not known

c. (i) and (iii) only

SaImHaUSTUBDIET 1%/ cTenau CHLII L& GBHSH 2 RINOUITEIS/ 2 aBTeniouITaTeneu?
(i) FLLIOOBSHFBGS BHireundsefler Qurpiiieners Gallearn. oWl aeluBISHIBBSI.
(ii) Caler eaiug LJHW  WHSHI  OBEBID  (WESWILTET  HMBHMeNSH CBTWIL (W HD

DIMFFTHEN6NS  OBTEWIL HTGHLD.
(iii) drsw whH CaLieN 96T HENeVEUT SLEIMT.

. (1) w@w
. (1) wBpub (iii) Salutenr oL (b
e. allewL G flualsvensn

a
C

b. (i) wBpib (i) eydwer WL B
d. (i), (ii) mppub (iii) s&wieneu

22.  Which of the following are incorrectly paired?

1. Ashok Mehta Committee
2. Balwant Rai Mehta Committee
3. L.M. Singhvi Committee

4. G.V.K. Rao Committee

a.1and 3 only
d. 3 and 4 only

b.1and 2 only
e. Answer not known

- Social Audit
- 3 tier system of PRI
- District Collector to be the Chairman of
Zila Parishad
- Abolition of the post of District
Development Commissioner
c.2 and 3 only

LedTeu(hHeUaTeUBMIeT 6Tened HaUBTHLl GUITHSHSLILIL (HelTerme?

1. 98sms CwHam W
2. ueLaUBSHITUI GHSHT GH(1D
3. etev.erd. Fmal &HW

4. .al.Gx. gmel &

a. 1 wBpb 3 sslwet L (BLb
C. 2 1oBmib 3 syFlwen oL (B
e. alenL Gaflwailedenso

FPHSH HewNHemD
3 2b5e LEbSTWHSI JTER
wreul' L oayrl gl D&IBgh  HEV6VUTTSH  LOTeul L
S Fwr  Qmeds  Ceuewihd  eiedim  ufibaieny
(OEINEY: )
wmeu L Guburl(h Sie»eorlT 616 Lgalemuwl
E(&S60

b. 1 wBpd 2 sydlwer GO

d. 3 wBgw 4 gdwer WL B

23.  “Ralegan Siddhi” a famous place in India is well known for elimination of the evil of
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24.

25.

26.

27.

APPE> L0
STUDY CENTRE
CHENNAI

a. Poverty in Rural Area b. Corruption in Administration
c. Criminalisation of Politics d. Human Rights Violations

e. Answer not known

ShFHwreled  “TCosra  AHH” e BLD  BhHd OETHmWW  QUIILSBSTSL
U ROLBBSI.

a. &gmoll Uphiseied eaumientd LA b. Piraunsssed BHeb@GID 2a1ped
C. odlwed SMbeTe0EH6T LOWIDTEIG d. wels o Menio BeLSEI

e. alenL Gafweailedenso

In India, 59 per cent of the land mass is susceptible to seismic hazard; 5 percent of the
total geographical area is prone to floods; 8 percent of the total landmass is prone to
cyclones; what percent of the total cultivable area is vulnerable to drought?

a.72% b. 68% c.70% d. 65% e. Answer not known
@bsHwraled, 59 ggals Heolugly [He OFHTe] UTWSHBES UMTHBH; OCLTSHSL
galuiwed uvgHuled 5 gFpaldsbd OGeusTendhsmed UTHSSUUBL;, OCTdHEH Heolgliied 8
S GprelelldEd eMMEHBa. CLTHEF FTGUY LTI ashHeme FHAHLD euBL Fwmed
uT&H&aULELD?

a.72% b. 68% c. 70% d. 65% e. allewL  Oafwalsvenev

The term ‘Operation Flood’ is related to

a. Green Revolution b. White Revolution c. Blue Revolution
d. Poly House Revolution e. Answer not known

ILGTagET L6 6TenID eUTTHMSH, EDHEIL 631 CSHTLTLeNL I

a. usem Yyl g b. Geusitemen LygL_d C. oo Lyl dl

d. ured &iG Yy & e. alewL  OaMuweaisdensv

Cotton cultivation predominates in Regur Region of North West India. The Narmada,
Tapi, Purna and Sabarmati River Valley region are basically heartland of cotton
cultivation. It always associated with one food grain cultivation refereably jowar, Bajra
and oil seeds.

Which one of the following is best implied in the passage?

a. Black Soil is favour for cotton cultivation

b. Cotton is the commercial crop

c. Cotton cultivation mostly in North West India

d. Cotton always associated with food grain

e. Answer not known

alL Gobg @phHurelar CFGT UGHUID LMHSHH FTGUY DUHNEED CFNGHHFBSI. HIOST,
ST, UiTeorm, FUTDS BB UTeNSHSTHSHI6T LHeHSH FTGHUIQUIET emDWILT LGS SMTEGLD.
@z  OumbuTed gl  @m 2 el  UUlBEHEG =~ DmemwTsEF  FTGLiguied
(wereniflenoemuwil QuUBISBH. Siemeu (LpedBBW Gmameu, LMIT WBBID eTevTOemULl 6il&HIHH6T.
Weteumeuameupmled e1gl Apliumssd @puiLiud Geeng?

a. HHUY wewl LSS almen&FFalsd BBl

b. upSHSH @b euremiuILUlT

C. UBHFH GupbLTeId auLBoBg @bgHwraled LUWIfLLILGEDBS

d. umsd GuebuTID g8Ha@ID @ 2 ol LWINHHMIGEG BeEUTUTRIS]

e. allewL G flwalsvenso

Which river is called the sorrow of Bihar?
a. Kosi b. Sharavati c. Narmada

d. Tapti e. Answer not known
Usmfler ST Ty SImWPSHSILBID ml 61317
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28.

29.

30.

31.

32.

33.

a. Gard b. gnymeud) C. [BTLDGT
d. sus) e. alenL  GaMuwialevemnev

Clear sky, pleasant weather, low temperature and humidity, high range of temperature,

cool and slow northern winds are the chief characteristics of season.
a. South West monsoon b. North East monsoon c. Winter season
d. Summer season e. Answer not known

Oxpefleuterr eumend, @eflenOWITET GUTENENED, GHMMHSH GeulILd WLBBID FILILSHEe0, DIH S
Geuliupeney  aiFsH, Goflhs WWBDBID OFHEUTERT QL &G STHBBIGH6ET, @QeMaulsdeoTd
L(HeUSHH T (LPSHSIUILDTET  (G)6mThISH 6T G)LD.

a. Omper GBE LHeILDEMLD b. auL &péE LmHeaDemLD C. @eiT®meuld

d. GeuelBasmeotd e. alenL  GaMuwalevemnev

Identify the Constitutional Amendment Act that reduced the age of voting from 21
years to 18 years?

a. 60th Amendment Act b. 61st Amendment Act c. 624 Amendment Act

d. 6314 Amendment Act e. Answer not known

auTdHelsGHD auwemd 21 mbaH 18 b GOBHH DTFemoliLis HHHHF FLLHMSD
SIGMLLITELD  SHIT6UIS.

a. 60eugk SFFwevenolilsh HhHHF FLLID

b. 6leugy opfwevenioriygdh HmSsF FLLIb

C. 626ug SFweoemolilydh HHSHHF FLLLD

d. 63eugy opflwevemiolig HHSSF FLLID

e. alowL  GgMwalsvensv

Autobiography of “Fall of Sparrow” was written by

a. Vineetha Menon b. Balachandran c. Laxmikanth
d. Salim Ali e. Answer not known

“Apaamaluiler afbFd” i Swgmamdbenul 61(Lpd5uleuT

a. elefsm Guoewrest b. umevahyest C. VAGOBTHS
d. 565> 9169 e. alenL  Gafuwaisvensy

National Anti Doping Agency (NADA) was setup in the year

a. 2007 b. 2009 c. 2011 d. 2013 e. Answer not known
Bafw eadbaiombsh (NADA) ey mmpeued Boeuliul L Sy

a. 2007 b. 2009 c. 2011 d. 2013 e. alewL  GaMuwalsvemev
Goa celebrated its 60th Liberation Day on

a. December 2018 b. December 2019 c. December 2020
d. December 2022 e. Answer not known

Gameur e 60-6ugkl alHHemev HTewen SILIGUTH QBmemiLmouig)?

a. lpgbuT 2018 b. w&buT 2019 C. 1gguT 2020

d. gaour 2022 e. alenL  Gafweaisvenso

became the 234 state of the Indian Union in February 1987.

a. Mizoram b. Odisha c. Punjab
d. Uttarkhand e. Answer not known
UG Uugeufl 1987oud Siewih @hHw upeiuiet 23-6ugl LOMHIEOLDTSSLILIL L G
a. wWGgmyib b. quar C. U@hamLl
d. o gymsme e. alenL  Gafweaisvensv
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34.

35.

36.

37.

38.

39.

40.

41.

APPE> L0
STUDY CENTRE
CHENNAI

In which year was the word “Corona virus” used in the scientific journal “Nature”?

a. 1978 b. 1986 c. 1968 d. 1966 e. Answer not known

&8ymeT  emeugeryd 6B GFTeL (PH& (WHedlev “CrFFT’ Spflalwed S uialHHed Geueflull L
oLl 615l?

a. 1978 b. 1986 c. 1968 d. 1966 e. alenL  Gafweailsvensv
India launched its 415t Scientific Expedition to Antarctica in the year

a. 2019 b. 2020 c. 2021 d. 2022 e. Answer not known
SITLTTpShSTalBSTr 416Uk SPfalwied FThEH LWETHDSH HHWT 6O Hleudbswg).
a. 2019 b. 2020 c. 2021 d. 2022 e. alewL  Ogfwalsbensv
Which gas is maximum available in Sun?

a. Hydrogen b. Oxygen c. Helium

d. Nitrogen e. Answer not known

GNweiled 6hgd euTu] SIFlens o eengl?

a. eEUBLJERes b. eudbFlegei c. anfediwib

d. enpLyegest e. alewL  QFfwaisoenso

In meiosis, recombination occurs in

a. Metaphase | b. Prophase I c. Metaphase 11
d. Prophase II e. Answer not known

Bwnderd LGLILTe0 BIGFTEHme HMLOLBID Hlenev

a. enwwimlene | b. waed Hlenev | C. entow! MBlewev 11
d. wpged Blemev 11 e. alew. OzMuwaledenso

Identify the characteristic which is not associated with scientific attitude?

a. Critical observation b. open mindedness c. free from superstition
d. biased e. Answer not known

allehEhTe SIS (PMBUIL ST CHTLILLGSHSLILLTSH LiewIenL! SHIeNLUIT6ND SHTexwIH

a. alwirger o BBIGHTHH6 b. Hmpbs weniLITesTNLD
C. cpL pLGmBUIHHSH alBUL 19 (HEH60 d. usssgriumet

e. allewL  Gaflwaisvenso

Duplication of mitochondrial DNA takes place during

a. G1 - phase b. S - phase c. G2 - phase
d. Go - state e. Answer not known
abd Hemeouiled emiol GLramemngflwraler eiCuy @l ipsHSma
a. Gi - Plewev b.S - Menev c. G2 - Henev
d. Go - Plewev e. aleowL  Oafwalsbensv
Individuals with ____ blood group is called universal Donor.
a. AB b.O c. A d.B e. Answer not known
B G Lflalemerd FribHeauT © 60& GHE OBTEMLWTENT 6T6Im HIPSHBLILIBHT.
a. AB b.O c. A d.B e. alenL  GaMuwalsvemev

National Fossil Wood Park in Tamilnadu is located in

a. Villupuram b. Madurai c. Tirunelveli
d. Tuticorin e. Answer not known

SODHTL 960 Gl OFHTeLeUlTUIQD O LRIST SHiE DIDLObHSHIETENS.

a. alupuyyid b. wgiemy C. FHmOmevBaual
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d. anssssGle e. alenL  GaMuwiailsvemev

42.  The element needed to increase the straw of cereal crops is

a. Nitrogen b. Phosphorous c. Calcium

d. Iron e. Answer not known

Freiwll uuiTsefled meusbCamed Gempuimer DIHSILGHSH CHemeulBLD SHNOD _ SESLD.
a. enbL_Jegesr b. umerdLIzerd C. smeudlwid

d. &by e. alewL  Gxfuweailsvensy

43.  Which of the following are the primary colours in a Colour TV system?
a. Blue, Green, Yellow b. Yellow, Green, Violet

c. Red, Yellow, Violet d. Red, Green, Yellow

e. Answer not known

&SLPDH &6 UBMI6T, eUeHIeNIdH CHTEMEVSHETLF DIGWILI6T, (LPSHETEnLD HIBHISET WiTen6u?
W. [Hevlb, LFDF, LDEha 6l 9. LDEHTFEIT, LIFGNG, Q6uHT

o . deully, LOEHF6T, MG HT al. ey, uFemg, LDEhFei

e. alowL  GgMwalsvenso

44.  Assertion [A]: Macaulay argued for Western education in the English language.
Reason [R]: Macaulay intension was to educate the people of India not in
Sanskrit or Persian language.

a. [A]is correct but [R] does not explain [A]

b. [A]is correct and [R] is incorrect

c. [A]is correct and [R] is a correct explanation of [A]

d. Both [A] and [R] are wrong

e. Answer not known

ammm [A]: OwssM8  sHaig  GPlUBelled  oymide  anfuied CuoBssHHuid  Heval
SBUSSUILGMUSDBEG DSHTUTS UTHIL L.

amyewid [R]:  GéamGm, @hHulisersd FwavdmsdHaid, utpds GuomPuilan  Heval
UBLL LTSl 6T6IM 6T6v160ID  OBTEuIY(HHSITT.

a. &aBu gf;, SIMe0 SHTTNID FnBenms allenshsaleoemev

b. gapm &M, sryewid SHeuml

C. gnpm &f; s&myewid gmBenm FhwTs allendGHIH B

d. &@Bm &myenid NGl Heuml

e. allewL G flwaisvenso

45.  Whose writings inspired Gandhi, for the Civil Disobedience Movement in South Africa.

a. Henry David Thoreau b. David Ricordo c. Leo Tolstoy
d. Bertrand Russell e. Answer not known
e giifldaraled SMhHEHUNeT FULIOBIIL BUSEHHIHESG WTHMLW UmLIY 2 5HCnsHms
CaETGH5S!?
a. Qamer CLall &TGym b. GLall Mm@ C. e06wim  LmeveroLmull
d. QUITLFTeRIL. Ferberved e. alewL Gafualsdensy
46. ___ accompanied Subash Chandra Bose during his secret journey in a German U-boat
submarine and reached South of Madagascar.
a. Maulvi Ziauddin b. Bhagat Ram c. Mohan Singh
d. Abid Hussain e. Answer not known

Cegmoreiw BTG U-euens BHieppd slieded Oam@ L sTevdhdGHF Faman bhsh @rsdlu
SLBUWHSHe0 FUTed FhaHy Gumerd o L& LulenidhgHeulT
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47.

48.

49.

50.

a. Gwemeval  eguimu g e b. usg gmb C. Guorsar Hmi
d. onls emeenges e. alenL  GaMuwialevemnev

Which among the following journal published the interview of Gandhiji on the popular
historical event “Gandhi Jinnah Talks” that made a serious impact on society?

a. News Chronicle of London on July 4, 1944

b. Indian Mirror on June 30, 1944

c. Bengal Gazatte on July 14, 1943

d. Commonweal on June 12, 1942

e. Answer not known

FpBHHH6L  HHMLWTRT  HTHHHMSH GBUBHHU  UTeOTB®  HIBHDeUTET  “HMha  29levteorT
Guésandens” uBpslw srhHuiler CohiTsmeniensy Llaeumd 6bhd LSHHfbmae Geuafui L g?
Bugerd &Crmenddsd, eueRIL6T 2°emev 4, 1944

SphHwies 0T, sgeait 30, 1944

QURIBTEL OBFL, gg@emev 14, 1943

HMID6T6N60, 232651 12, 1942

alenL  OFfwailsvenev

canoe

“I do not like what some people say, that we are Indians first and Hindus afterwards or
Muslims afterwards. I am not satisfied with that... I want all people to be Indians first,
Indians last and nothingelse but Indians” Who said this?

a. Mahatma Gandhi b. Maulana Abul Kalam Azad

¢. B.R. Ambedkar d. Jawaharlal Nehru

e. Answer not known

“WpHeded HTD AHHWTHET, DSBSL LIBG SHTel aslbHhbEeT DIeV60H DSBS LIBESHHT6
(PHOSHWTHET 616yl hH FeOT mmIeUFH  6THI@ITED GBS  (PIPUIRTEOM6D.  6TaIHEG — DIFH60
Fpugulevenev.  6160CMHE  (PWHeled BHHWITHeT wBBID  EmiSHeueny  AbSHwiTHCer,
@bdHwTsmend Haly Ceaubmraipiieoanel eeambl(hds BT alHLLSCB6T”  6Ieml  SnpsluleuT
wifr?

a. LSTHT HMhHI) b. Guemeoredim iLed HEVUTID FTH

c. .oyt oNbBUGHST d. meuamitevmed GB(H

e. allewL G fluwalsvenso

From which of the following constitution, the source of “Directive principles of state
policy” of constitution of India, was derived

a. Ireland b. Iceland c. Netherland

d. Poland e. Answer not known

S 6bdH BTG DTFwed Semlled(hbs SbHul DIFued Semioliled o eten  “OIg
CppBlapers CaTLur®” 616s SLSTID THHSLILLL Sl

a. SIWITEUTHG b. sgervevnba C. OBSTeLMTHS

d. Gumeorihal e. alenL  GaMuwailsvemen

(i) When the general elections were held in February 1937, Jawaharlal Nehru made a
whirlwind tour of the country and carried everywhere the message of the Congress.
(ii) The success of the Congress in the elections was very much due to the efforts of

Gandhiji.

Which of the above statement/s is/are true?

a. (i) only b. (ii) only c. (i) and (ii) only
d. None of the above e. Answer not known
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51.

52.

53.

APPE> L0
STUDY CENTRE
CHENNAI

(i) dogeufl 1937 @ed GQuTaldh BzTeHed BLHHOUTH, geouanTeored Ghm BTG (PLRGUBID @
GpraleldF sBmIiuwenid GFuig sthdFaiear CFUISHemw MG BTNy CF 6.

(i) @il Cxigedsd srmdFeiar CeuBBlee smbiedule WwBHAGW smyemid

GuBev &mTawI LB mBmiseiey gflwmeig/ e eigl/ eleneu?

a. (i) L Bw b. (ii) o (Bib c. (1) mmib (ii) L G

d. GuBsemiL  sTeneuu|Lilsvemev e. allewL.  Gzfluialsdenso

Which of the following is incorrectly paired?

1. GSDP - Gross State Domestic Product

2. GDP - Gross Domestic Price

3. SIPCOT - State Industrial Promotion Corporation of Tamil Nadu
4. SEZ - Special Employment Zone

a. 1 and 3 are correct b. 2 and 4 are correct c. 2 and 3 are correct
d. 3 and 4 are correct e. Answer not known

Letteu(heuateuBmieln SHeummasll GumpbdujeTeneuBenssd CHThHOH®.

1. GSDP — Mplev Gordhs 2 MBI (H 2 BUSHI

2. GDP — OwrHx 2 MHTLH almev

3. SIPCOT - sulp B i G THed euenT&dld SHLpHLD

4. SEZ — Fmiy CeuemeveuTUILIL| LOGITL 6VLD

a. 1 wpmid 3 & b. 2 wBmid 4 & c. 2 wmp 3 &
d. 3 wpgw 4 g e. alewL OzMuwaisdenso

Match the following.

A. Thiru. V. Kalyanasundaram 1. National School
B. E.V.R. Periyar 2. Saiva Siddhanta School
C. V.V. Subramaniyam Aiyar 3. Kudi Arasu
D. Sami Venkatachalam 4. Navasakthi
A B C D

a. 4 1 2 3
b. 1 2 3 4
C. 3 4 2 1
d. 4 3 1 2

e. Answer not known
Ledteu(meuaieuBenml  QUM(HEHSHIS.

A. Hp. . seOWTEUSHHSHILD 1. Cadlwr ueier
B. m.Qauym. Quiflwmir 2. gl FHHMHBHL LieiTer
C. all.al. asliweniul squi 3. Glg O&H
D. smf GeumisL 160D 4. BUFHI)
A B C D
a. 4 1 2 3
b. 1 2 3 4
C. 3 4 2 1
d 4 3 1 2
e. allewL G flwalsvenso
Match the following
A.V.O. Chidambaram 1. Alagammai Asiriya Virutham
B. Bharathi 2. Sangoli

C. Namakkal Kavignar Ramalingam 3. Swadeshi Navigation Company
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54.

55.

56.

D. Kavimani Desiga Vinayagam 4. Bala Bharat
A B C D

a. 4 2 3 1

b. 3 4 2 1

C. 3 2 1 4

d. 2 1 4 3

e. Answer not known
SIDHHMILAUBNMB  OILIT(HHHISH:

A. avLe . dgiburgd 1. ouwsmo AW almEHsd
B. ungg) 2. FHIOHTe
C. piwdssed HalehT SFToednhisD 3. 568xd ®liued D66
D. salewl Cahdls albruisbd 4. UTeL UMIS
A B C D
a. 4 2 3 1
b. 3 4 2 1
C. 3 2 1 4
d. 2 1 4 3
e. allewL  Ggfwalsvenso

From 1757 to 1833 India witnessed

1. Different regions in India began to draw closer.

2. Old hierarchy of Social groups began to disintegrate

3. The caste system tended to relax

4. Village economy lost its character of self-sufficiency and isolation
a.1only b. 1 and 3 only c.2and 4 only

d. All the above e. Answer not known
&l.U. 1757 wpHeL 1833 aueny @bHHWTalled 61HenerT HTeI(LIQHBHSH).
1. @pdumailer LGB LITTHAUIBISET  6e6v13 6w 6u0lhH 6.

2. Fepsd Oemideienn Lenpuwl/ LIpedowiTest ogLEeT ifiibal Gumuler

3. THwW (1PpmB SHeNThHHSH

4. Fymow QUTHTTHTID DIHeT SHBETTL LOBBID HANHHHBHGSWD HETMOMU BIOHHJ!.
a. 1 @ b. 1 wBmib 3 wl G C. 2 1BmIb 4 1 {HD
d. 8mal SimaTIHHID e. alenL  GaMuweailsvemev

Which songs of a particular Tinai are not found in Purananooru?

a. Padaan Tinai b. Kanchi Tinai c. Vaagaith Tinai
d. Uzhignai Tinai e. Answer not known
aHFHementdb@Gflul LML 6O&H6T LBHTEmmsed De0enev?
a. UMLmewT gleneuor b. &rehdld Henewt C. QUTENHSH Heweut
d. 2 fenerd Henewr e. alenL  GaMuwiaisvemev

Which archeological excavation illustrates the extent and richness of the maritime trade
between Tamil Nadu and Rome?
a. Keezhadi b. Arikkamedu c. Mauriyakudi

d. Sengalpattu e. Answer not known

abal  Umseurmemymuisd, SpsSHBESGL  Crmoyfléa@ghd @emLullL  SL60  euTemnisdhd 6t
allfleweuud suenSensuyd QUG allenddlds &I (HPlamg?

a. &1plg b. ©f&sGwH C. Quenflwi@ig

d. GgmiseoLn’ (B e. alenL  GaMuwiailsvemev
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57.  Match the following.

A. Ninaivuppathai 1. Aathavan

B. Kakitha Malargal 2. Vannanilavan

C. Thandira Bhoomi 3. Nagulan

D. Kadalpurathil 4. Indira Parthasarathy
A B C D

a. 2 4 1 3

b. 1 4 3 2

C. 3 1 4 2

d. 2 4 3 1

e. Answer not known
BB aBensB CUT(HSHHIS

A. PevaaylILmeng 1. SLEeu6T

B. s1dls weviTaei 2. GUGKIENIHI6V6EDT

C. sbgly Y 3. B@&eveit

D. sLeoygH g0 4. @HAIT UTTSHSHFTTSH
A B C D

a. 2 4 1 3

b. 1 4 3 2

c. 3 1 4 2

d. 2 4 3 1

e. alowL  GgMwalsvenso

58.  What does the following Kural depict?
“Kudambai thaniththozhiya Pul paranthatrae”

a. Happiness is transient b. Youth is transient c. Wealth is transient

d. Life is transient e. Answer not known

‘GLbmL HaNSHOSTOW Lo UBHSBEB’ sleiamid GBefled aumD ST LeolIbBSHHleus 61517
a. APFF BeeouleLeVTHSI b. Senenip HeneouleveOmH I

C. GFeveuld HlemevuleveVTHS d. aumpsemns Beneouleve0THS!

e. allemL G fluwalsdenso

59.  Pick out the correct pair from the following.

1. Anbalippu - Ku. Azhagirisamy

2. Kadavulum Kandasamy Pillaiyum - Pudhumai Pithan

3. Yugasanthi - Jeyakanthan

4. Thirudan Magan Thirudan - Kalki

a.1, 3, 4 alone is correct b. 3 and 4 alone is correct
c. None of the above is correct d.1, 2, 3,4 all are correct

e. Answer not known
&Cp CaThHHaLILL (BeTeneupmpled gflwmer Semewienwld GHiTey GFuis.

1. sjetLefliLy - &. Spdflgmd
2. BL|EBD HHHIFTH LleTenenujd - L&IemLDLILT 853661
3. WaFHS - CeauWIsTTH 60T
4. FH(HLET BT SH(HL 60T - B0
a. 1, 3, 4, w' (o g b. 3, 4 w @G &M C. aigloylb Fflulebemnev
d. 1, 2, 3, 4 oaisaHn g e. allenL  Gafweaisvenso
60. Rani Velunachiyar lived under the protection of Gopala Nayakkar at near
Dindugal.
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61.

62.

63.

64.

a. Kannivadi b. Thandikkudi c. Virupachi

d. Aayakkudi e. Answer not known

@gmenll  CoueuprFFwnT  Hewihbseo SDHGH Gamumen pHTWSSMGT UTHISTIID 6B
BLHF0 UTPHS! GUBSIIT.

a. seefleury b. sremngs@ig . algplium_ &)

d. syus@ig e. alewL Gz fuweailsvensv

Who lived in the name of “Dharmasenar”?

a. Thirugnana Sambanthar b. Thirunavukkarasar
c. Sundarar d. Manickavasagar

e. Answer not known

‘HHCFIT 6TadiB CUWIHL 6T 6UTDHS! UHSHEUT WITT?

a. H(HEHTOFIDLHSHT b. Hmpreybsya

C. &bDIT d. wrenléseurasit

e. allewL G fwalsvenso

From which book is the line “Kutram paarkin Sutram Illai” is taken?

a. Aathi Soodi b. Thirukkural c. Proverb

d. Kondraiventhan e. Answer not known

“@BBL uTTodler FBpn Aene” 6B Silg S GuBBIeTen HIT6L 6157
a. aHFH Gy b. SHmbGHmer C. UG

d. GasreaempGabge e. alewL OgMwalsdensd

Which of the following Statements is/are not correct about Akbar?
A. Akbar was influenced by his mother

B. Akbar took Roopmathi from Baz Bahadur

C. Bairam khan was killed by Akbar

D. Akbar attacked Chitoor to get the treasure

a. (A) and (B) are correct; (C) and (D) are wrong

b. (B) and (D) are correct; (A) and (C) are wrong

c. (B) and (C) are wrong; (A) and (D) are correct

d. (A) is correct; (B), (C) and (D) are wrong

e. Answer not known

&6 GUIUUILLIUL L auBpBled SIS UBBSIL SHeUBTeT S(HHSHI 61517
A. 91BUT 9IS HTWTITEL SEUFLILIL LT

B. @isui eplindenws urerousSTiLOHbHEH SeuhHSTT

C. eoLgmbamenedt SISLIT QBTeIBTT

D. sisut feaneny OQsmeramemugliLsBaETs LenL QUIGHSTT

a. (A) wspid (B) &f; (C) wpmid (D) seum

b. (B) wmmiw (D) &f; (A) wppiw (C) seup

c. (B) wpuib (C) seums; (A) wipid (D) &

d. (A) af; (B), (C) wpmib (D) seumi

e. alwL G flwailsenso

Name the king, who introduced the Asvamedha types of Gold Coins bearing the
figures of Lakshmi and Ganga.
a. Samudra Gupta b. Chandra Gupta II c. Kumara Gupta

d. Skanda Gupta e. Answer not known
wWrmenL W o fld  sTe0HH0  IFAICLSHT auend HHIG  BTewlmiSeiled 6ol &l oBBID
ShImEUIeT 2 (HeumiseT QUTEESIUL G DISPSLILGHSILLL S
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65.

66.

67.

a. FWPHAHT GLIBHT b. #pay @ls Il C. GOy GLIGHT

d. evsbhs GLSHT e. alenL  GaMuwialevemnev

Assertion [A]: The Small Scale Industry of India was ruined due to the attitude of
the Britishers.

Reason [R]: British Government declared the Policy of free trade in the year
1833.

a. [A]is true but [R] is false

b. Both [A] and [R] are true; and [R] is the correct explanation of [A]

c. [A]is false, but [R] is true

d. Both [A] and [R] are true, but [R] is not the correct explanation of [A]

e. Answer not known

apy [A]l: Uilyed o Awreniisefler SiemIGweBWTD ShHw FBIOHTHN DOHHH.

smyewid [R]: 18330 oewih  Ulged opsmhsd SoLuleveor eureniuds Csmeensemul

SIBISSI.

[A] o syemed [R] Heums

. [A] opmib [R] exddw ByewiGo M wimid [R] eaiug [A] -alBe@ Filwmer alendaiongLb.
[A] Beum eyeomed [R] &

. [A] wiunbd [R] ey ByewiGd af, apemed [R] ereniug [A] eli@ gflwmer alendasinsve0

e. alowL  GgMwalsvenso

an owp

“Work for food” scheme implemented by Central Government in the year 1972. This
programme yearly provides.

I. 10,1000 tonne Wheat

II. 60,000 tonne Rice

III. 10 lakhs Agricultural instrument

IV.  Rs. 10 crore subsidy for marginal labour

a. L 1I b. 11, III c. III, IV d. IV, 1 e. Answer not known

Gouemevd@ o eawieydh HLLD WwHHW SFFTe0  1972-60 QHTLRSILLL . S L SHHlen
euTuleome EWNeME ML LILIGI.

L. 10,000 Leir Gasrgientouid

II. 60,000 Leit ofiduyb

I1I. 10 @evL g1b alleusTuid &H(HaHEHID

IV. 10 Gzmy alefiby Hewevr QFHTH6OT6N(HEE LOTENUID

a. L II b. II, I1I c. III, IV d. 1V, 1 e. allewL  Gfweaisoenso

‘Empowerment of Women’ policy focus/s on

(i) Poverty Eradication

(i)  Micro Credit

(iii) Women and Economic development

a. (i) only b. (ii) only c. (iii) only

d. (i), (ii) and (iii) e. Answer not known

‘QUETTHEHEEG DIHBTT6NHHE0  CBTeTND HDHHEMILUBMIST Heuaid OFsVIHBHIHMBSH
(i) eumiewo LAy

(ii) APlw Sienalled HL 6T EULPHIGHE0

(iii) Guemtael WBBILL GuTEHeNTSHTY GobLT(H

a. (i) L Bw b. (ii) ot (Bib c. (iii) oL (b

d. (i), (ii) b (iii) e. alewL Qpfwaisoenso
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68.

69.

70.

APPE> L0
STUDY CENTRE
CHENNAI

(i) The study of the SNDP and the Yadava movements illustrate the emergence of large
ethnic blocs on the basis of ideology through political Mobilization

(ii) These movements had well-defined ideology on the basis of identity.

Which of the statements is/are true?

a. (i) only b. (ii) only c. (i) and (ii)

d. None of the above e. Answer not known

(i) SNDP wppitb wigen Subshiseiear ouule), opflwsd oemil  HILLed  epeooTe
shHGHFHWeder gl uied Guilw Bend GpdmeT Caramlwms allens@HI Bl

(i) Obs BU1bBBIBE SIDL_WITENT G681 Slglient_uiled fHIMHHHMEH IS

UDTUIBIS S| b SeT.

B &FmBuIH6Ned 615 2 ewienn?

a. (i) L Bw b. (ii) o Bib c. (i) wpmid (ii)

d. GuoBseiiL eigiaD Be0emev e. alenL  GaMuwalevemnev

Assertion [A]: Non-Brahmins with minimum educational qualification should be

provided with employment opportunity and be appointed in all
government services.
Reason [R]: Communal Representation Decree was passed in the year 1921.
a. [A]is True [R] is False
b. Both [A] and [R] are true; and [R] is the correct explanation of [A].
c. [A]is False, [R] is True
d. Both [A] and [R] are True, but [R] is not the correct explanation of [A].
e. Answer not known
apu [A]: GMBHSULF  Hevald SHSHHWemLW  LIFToenIT  SeLeTHaITHEHEEG  Ceuensv
aumidy  eupmisllL.  CouewiBld  WLBMILD  DIMATSHSHID  DIFSFHI  LewiBHerevid
puwdlsbsiiiL. Geuemr(BLb.
amyenid [R]:  au@liyeuns yHHdHsaen opement 1921860 BlanmGauBmril L g
a. [A] el eyemmed [R] seum
b. [A] wBmid [R] Bgemiio af; Gwewd [R] sieiug [A]-alBe aflwner alendasid
c. [A] moum eyemed [R] &
d. [A] opmib [R] @yewiGio &M; eyemed [R] eraiiug [A]-alB@ gflwmer alendsid ©i6060
e. allewL G flwalsvenso

Assertion [A]: The prime objective of the government is the overall Development
of the tribal community

Reason [R]: Proper and effective implementation of schemes is of paramount
importance.

a. Both [A] and [R] are true; and [R] is the correct explanation of [A].
b. Both [A] and [R] are True, but [R] is not the correct explanation of [A].
c. [A]is True [R] is False

d. [A]is False, [R] is True

e. Answer not known

GBI $QUerv: upniGuierfear  QUBOWTHs  auenTFACw  ofler  (LPSHeTenLOUITET
CpreHsd SESLD.
STT6WILD PQFi61: FHLULRISM6T  (LPOBULTHD, Hpeownsad FwuBLBGSHHIUSH OIS
(PSS UILDTETS).

a. [A] wpmid [R] &M; Gweud [R] [A] -dasmen gflwmenr elendasd

b. [A] wBmib [R] #f; Gueid [R] [A]-eussmer gfilwmer elenssd &iedev
c. [A] &M, syemed [R] seum

d. [A] seum; syemed [R] &

e. allewL G flwalsvenso
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71.

72.

73.

74.

75.

Choose the wrong matches.

1. Tamilnadu Tourism Development Corporation - 1971
2. Make in India - 1920
3. Mid-day meal scheme - 2014
4. Old age pension - 1983
a. Both1and 2 b. only 3 c. Both 3 and 4
d. Both 2 and 3 e. Answer not known

SlpsemiLeupmie Fflwmasll @urr@g,g,uuurg)mm@)mg, CaiMhoHBHS.

1. SOWDHTH SFBpeoT auenTsFdd HPHLD - 1971

2. Gd Beot @[_F)Q%_Irr S LD - 1920

3. wHW o _ewieyd S LD - 2014

4. WpFHGwT guiedHwsdh SHLLLD - 1983

a. 1 @y 2 b. 3 i Bib C.3 wBmib 4

d.2 wBpio 3 e. alen  OFMNuwaisdensv

Which of the following is NOT the reason for the provision of reservation for SCs and
STs?

a. Right to equality b. Right to dignity c. Right to liberty

d. Right to livelihood e. Answer not known

ulwed  gr@Huledt LBBID UPEGQUIET  WHBEHEEG BL  RBIESH  UDPRIGHSBG
LedTeu(hHeUGIToUBMIOT 61&%I SHTT6RID Dj606v?

a. swHGIUGHFH BT 2 fewlo b. wremiBasten o Meno

C. &HpATSHBHTR 2 Menio d. eumpaunsnysHmeater o Menio

e. allewL G flwealsvenso

Which of the following is/are true with reference to the impact of Mrs. Annie Besant’s
efforts?

(i) She founded the central Hindu College at Benares.

(i)  Her paper ‘New India spread the theosophical ideas.

a. (i) only b. (ii) only c. Both (i) and (ii)
d. None of the above e. Answer not known
SLDDHBITERILIGUMBNIEIT o151/ eTemal S)|6iT60T Quae SILbemLouITil 68T wwBduied

o _(HeuTeidl/ 2 (HeuTeareneu?

(i) oot uemmreied WHHW b Beveuilenut BpieT 6.

(i) seumoLw ‘Puy, SbHwur’  a@ib CFuHSHTET LIJDEhTaIFMmLS CBTeTNDHHMEL
UL wig.

a. (i) L Gw b. (ii) wr Gib c. (1) wppib (ii) ByemiGL

d. ergieyisvenev e. alewL Gz fuwailsdensv

In 2017 ____ district was a top rank in Gender Inequality Index of Tamil nadu.

a. Chennai b. Namakkal c. Nilgiris

d. Vellore e. Answer not known

2017810 SpewiG _ wmeulLlb  umede  FdHGHeudleend  GBuiliged  SLODBTL 1960
W3IS0 BBHSSI.

a. QFasTenent b. B E6 C. peudi

d. Geueurrit e. alen  Gxfuiailsvensy

An amount of Rs. 1,000/- will be deposited in the bank accounts of girl students
enrolled and studied in government school announced on
a. March 16, 2022 b. March 17, 2022 c. March 18, 2022

19| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




76.

77.

78.

79.

80.

d. March 19, 2022 e. Answer not known

&l uetefuled GCaphal LSS Tawialseailear  aumdld SHeurdbdled @h.1000 GLumdll
QUG eel SINSleNSSLILL L [HT6lT

a. mrEF 16, 2022 b. writg 17, 2022 c. omrEF 18, 2022

d. writeg 19, 2022 e. alewL GxMuwealsbensy

A and B can do a piece of work in 12 days, while B and C can do it in 15 days whereas
A and C can do it in 20 days. How long will B take to do the same work.

a. 10 days b. 15 days c. 30 days

d. 20 days e. Answer not known

A oppid B eudGunt @@ Gauemevenws 12wl sefleud B woppid C ef8wint oens 15
BT seflad A wBmib C oACuwn oeng 20 BT sefled (gl B eraiueT oibsH Geauensvenu
ISHHemen BT &eille0 (WIQLiLimT?

a. 10 [Tl eI b. 15 B se c. 30 prlselt

d. 20 B el e. allewL  Osfwalsvensv

. . .4 o .
The simple interest on a sum of money is A of the principal and the number of years is

equal to the rate percent per annum then find the rate per annum.

1 2 1 2
a. 65% b. 65% C. 5§% d. 55% e. Answer not known

4
QM OpTensUle SHealeul lpuwmardh DIFeVleT 5 SLBOD BBID DIHET STEVUPD ULy aIGH(LPLD

g eTeNey LB UL I9aTHID Wimg?

a. 6%% b. 6%% C. 5%% d. 5%% e. alewL Oz fwealsbensv

If the ratios formed using the numbers 2, 5, x, 20 in the same order in proportion, then
'x" is

a. b0 b. 4 c. 10 d. 8 e. Answer not known

2,5 x, 20 s aemidmen 968% aflmguied LWSLGSHEH DOUD IS FEIB6T alFH
gwwones Sminier 'x'=?

a. 50 b. 4 c. 10 d. 8 e. alenL  GaMuwalsvemev

If A=265and B =264+263+262+ +20

Which of the following is true?

a. B is 2% more than A b. A and B are equal

c. Bislarger than A by 1 d. A is larger than B by 1
e. Answer not known

A =2%1ppmip B =264+ 263+ 2624+ |+ 20

aTedlled SpdbmemiLeuBpsled 61gh Fflwimenr gmmml?

a.B geig A owelL 264 gifsib b. A wiynb B Fwoid

C. B giog A eow ol 1 9iFsb d. A gy Beow el 1 gidsid
e. alenL Gaflwealedenso

How many rectangles are there in standard chess board?

a. 204 b. 240 c. 1296 d. 1290 e. Answer not known
FHIRISL Le0enHUTD QLOTHILD 61HHMI OF6l6UBHIHET 2 6iT6rent ?
a. 204 b. 240 c. 1296 d. 1290 e. alenL  Gafweaisvensv
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81.

82.

83.

84.

85.

86.

87.

APPE> L0
STUDY CENTRE
CHENNAI

If 48 men working 7 hours a day can do a work in 24 days then in how many days will
28 men working 8 hours a day can complete the same work?
a. 28 days b. 30 days c. 32 days

d. 36 days e. Answer not known

48 oemidHel @ Geuemevenw! HTOeMTEIBISEG 7 wewl GBID Gouemev GFUIFH 24 BT SHeile0
WwlT eefled, 28 oeuideT 2I8%h Geusmevenwt HTOeNTEIBISEG 8 wWwewll CHyb Gouemev OFUIH
TSHHMe BT H6i60 (LIQLILIT?

a. 28 Bl seit b. 30 mr_seit . 32 Bl el

d. 36 B _sei e. alewL  Ogfwalsbensv

The standard deviation of a data is 3. If each value is multiplied by 5 then find the new
variance.

a.3 b. 15 c.5 d. 225 e. Answer not known

mh SHralar SHL alevdsomaigd 3. @aleumm WwHlmuuD 5-9160, OLmHDHSamed Sl &E@Lh
ysw sreler allevds auTdsss gyrafenwid STems.

a. 3 b. 15 c.5 d. 225 e. alew OgMwalsdensv

In a certain code language ‘ANIMALS’ is written as ‘SLAMINA’. How is ONLINE
written in that code?

a. ENILNO b. OLINEN c. LNOINE

d. NNLOIE e. Answer not known

GPWILG Gumfulsd ‘ANIMALS 6wy ‘SLAMINA™ eaer  @puicimed ONLINE
aaiLemng eTeleumml Gl eomb?

a. ENILNO b. OLINEN c. LNOINE

d. NNLOIE e. allen Oz fwaisdensv

If 5 persons can do 5 jobs in 5 days. Then 50 persons can do 50 jobs in days.

a. 1l b.5 c. 10 d. 20 e. Answer not known

5 puTdeT 5 Geuemevsemen 5 HTL&efled Gk wWluT eeled 50 BUiTseT 50 Geuemevenul
BTLSH6M60 (LIQUILIT.

a. 1 b.5 c. 10 d. 20 e. alenL  Gafuwaisvensy

A cement factory makes 7000 cement bags in 12 days with the help of 36 machines.
How many bags can be made in 18 days using 24 machines?

a. 4320 b. 2880 c. 6480 d. 7000 e. Answer not known

@ Jowen OFTHBFTmeOWTRISH 36 BubdIhseaiear o galujer 12 BT &eis0 7000
FOwewIL. emusemen HWTlSEBH. 24 SUbSHImSmenl LwWeLBGSHS 18 BT 660 615 Hmenst
FOIewi mUSM6NSH HUIMTTlSHEVTLD.

a. 4320 b. 2880 c. 6480 d. 7000 e. alenL  GaMuwialsvemev

A Cubical tank can hold 64,000 litres of water. Find the length of its side in metres.

a. 64m b. 8m c.4m d. 16m e. Answer not known

RH SAFFHT eUgel BTH OFTiuimergs 64,000 LT BT OFmeTEpd elafled DbHBHH
Camlguie USBHHE HenHmad LB LM60 SHTemis.

a. 64m b. 8m c.4m d. 16m e. alewL Oz fwaisbensv

The ratio of the volumes of two cone is 2 : 3. Find the ratio of their radii if the height of
second cone is double the height of the first.

a.2: \/5 b.2:3 C. \/5:3 d. \/E\/é e. Answer not known
Om SmbUBEHOLW ST SleTaybellear aldHHd 2 : 3 SuGD. SIEWILID FnlDilelr o wiyld
(PH60 FnlbLlelr 2 wirdHemHll BGumev EHLOLMIG 6Telled, DiauBSled DLImISeT6T BB HTEWIH.
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88.

89.

90.

91.

92.

93.

94.

a.2: \/5 b.2:3 C. \/5:3 d. \/E\@ e. alewL  Gafuweailsvemsv

The value of a motorcycle two years ago was Rs. 70,000. It depreciates at the rate of 4%
p-a. Find its present value

a. 64510 b. 64150 c. 64512

d. 64251 e. Answer not known

QT O F&HIJ UTEAGHHET alensy BTeWIH DLEWIBHEHHES (et eh. 70,000 5 DHHSHI.
9IHST I pewiBGCHTHID 4% GBEBSHI eafled DiFHesT HBOUTMSHW LFHLIDLIS HTEwISH.

a. 64510 b. 64150 c. 64512

d. 64251 e. aleowL  Ogfwalsbensv

Which of the following is true?

a. A-B=ANnB b. A-B=AUB c. (AuB)Y=A"UB’
d. (AnB)=A"UB’ e. Answer not known

SLpHewILeuBmled 61g Fl?

a. A-B=ANnB b. A-B=AUB c. (AuB)Y=A"UB’
d. (AnB)=A"UB’ e. alenL  Gafweaievensy

is the ratio of Helium-Neon mixture in the He ;: Ne Laser.

a.1:5 b.5:1 c.1:10 d.1:1 e. Answer not known
He : Ne Googifled, anfellwib opmid mluwimer SHeveneuuier alslsid UG LD.
a.1:5 b.5:1 c.1:10 d.1:1 e. el Oz fwalsbensv

Find the simple interest on Rs. 25,000 at 8% per annum for 3 years?

a. Rs. 4,500 b. Rs. 5,000 c. Rs. 5,500
d. Rs. 6,000 e. Answer not known
. 25,000 & 8% au' 19 aihdHHe0 3 SLHIBBEHHEG Hallau 19 HTewHIH.
a. Rs. 4,500 b. Rs. 5,000 c. Rs. 5,500
d. Rs. 6,000 e. alenL  GaMuwaisvemev

If Rs. 1,600 is divided among A and B in the ratio 3 : 5 then, B’s share is

a. Rs. 480 b. Rs. 800 c. Rs. 1,000

d. Rs. 200 e. Answer not known

. 1,600 Qprensenwt A oppid B gudBuint 3 @ 5 eldssHdleo LNdha Qsmemimed B a1 Lmkig
a. Rs. 480 b. Rs. 800 c. Rs. 1,000

d. Rs. 200 e. alenL  GaMuwaisvemev

For every 12 Mangoes that I buy, 3 turn out to be rotten. At this rate, how many rotten
mangoes will I have if I buy 100 mangoes?

a.24 b. 15 c.25 d. 35 e. Answer not known

BT6T  UTRIGLD  elleumh 12 wmbupmisefed, 3 el Gurmwiel®Bld eefsd HTer 100
LOTLDLILDMRIGEM6IT  GUTRISIGITEY  6THSHeMe SIS LOTDLIPRISET G (HSHEGHLD?

a.24 b. 15 c.25 d. 35 e. aleowL Oz fwalsbensv

The LCM of two numbers is 6 times their HCF. If the HCF is 12 and one of the numbers
is 36, then find the other number
a.8 b. 48 c.16 d. 24 e. Answer not known

8w etewisefer 15.0urw. (LCM) ooz 15.0u.81. -aler 6 wLBEISTGW. 15.0U.sT 12 WOBEID
QT elewt 36 eedlleL LOBEBIT 6lcTTENENID HTCWIH.
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95.

9.

97.

98.

99.

100.

a. 8 b. 48 c. 16 d. 24 e. alenL  GaMuwialsvemev

LCMofx4-16,x2-4x+4is

a. (x-2)2(x +2)(x2 + 4) b. (x - 2)(x + 2)? (x2 + 4) C. (x-2)2(x +2)2(x2+4)
d. (x-2) (x +2) (x2+4) e. Answer not known

x4 =16, x2 - 4x + 4 -§e1 18.Gum.1D SLGLD.

a. (x-2)2(x +2)(x2 + 4) b. (x - 2)(x + 2)2 (x2 + 4) C. (x-2)2(x +2)2(x2+4)
d. (x-2) (x +2) (x2+4) e. allewL  Ozfwalsvensv

The L.C.M of 148 and 185 is

a. 690 b. 760 c. 1010 d. 740 e. Answer not known

148, 185 e1eiiB eremisbeledr WFAB GOuTg LB (L6.6ILT.LD)

a. 690 b. 760 c. 1010 d. 740 e. alenL QFfwaieoensv

HCEF of 24x?y3 and 16 x3 y* is

a. 23x3y? b. 32 x3 y2 c.23x2y3

d. x3 y? e. Answer not known

24x2y3oppib 16 x3 y* &1 15.0umsT &L

a.23x3 y? b. 32 x3 y? c. 23x2y8

d. x3 y? e. allewL  Gflwelsdenso

If (x - 6) is the HCF of x2 - 2x - 24 and x? - kx - 6 then the value of K'is

a.3 b.5 c.6 d.8 e. Answer not known
x? - 2x - 24 vppib x2 - kx - 6 wler 15.0umel. (x-6) eefed K uller gy
a.3 b. 5 c.6 d.8 e. allewL  Ozfwalsvensv

Find the value of 63% of 3;

a.2.25 b. 2.40 c.2.50 d.2.75 e. Answer not known
HII| SHTewIS : 3; Bert 63 %

a.2.25 b. 2.40 c.2.50 d.2.75 e. alew OgMuwalsbensv

Ranjith’s total income was Rs. 7,500. He saved 25% of his total income, find the amount
saved by him

a. Rs. 2,500 b. Rs. 1,875 c. Rs. 5,625

d. Rs. 5,000 e. Answer not known

BrechFHHST 1715  euBLTEID h. 7,500 SiF0 25% @ Cxligsnt eafed et GFISHD
CpTems

a. Rs. 2,500 b. Rs. 1,875 c. Rs. 5,625

d. Rs. 5,000 e. alen  Gxfuiailsvensy
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